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Statement I : Systems concepts are said to be abstract and vague.
Statement II : Too many sub-systems and interdependence among them make the task of manager very easy.
In the light of the above two statements choose the appropriate answer from the options given below:

FaMMI-I: 3eMLOLILGET 6T &([HS S5 SH6T &([HEHHITH|D QS5 laMmETEHES SamliLGHMmSI

oD MI-11: LI6V SI60)600T J6MLOLILIGET LDMHMILD 2i6M6 R6TTMISHESTETM FMTHS (H& S0 GLoeumerTifler Liewolemu
FLLILDTE G R OTMS!

GLM&euoTL @) T600T () FoMMIG&6fledl(BHS GCL Q&BTH & & LILIL (B eTereralmmieT Fiflwmer LFene CHTHASH &6.

A': Both Statement I and Statement II are True.

FnMHMIGET I LnMHMID 1T L& W @TeooT(GICLD &Fifl
B: Both Statement I and Statement II are False.

FaMHMIGET I LMD I 2,H W @ Tevor(HiGLD Seumi
C: Statement I is True but Statement II is False.

Fammi 1 &1l L60TTeL Fn MM 1 Heumi

D : Statement I is False but Statement II is True.

FaMl [ HEUMI SLETITV G MM 11 &Fif]

Match List - | and List - II.

List - 1 List - 1l

(A) F.W.Taylor n Business Management as a
profession

(B) Henry Fayol () Father of Scientific
Management

(C) Mary Parker Follett (my Father of Human Relations
Movement

(D) George Elton Mayo (IV)  Administrative

Management Theory

Choose the comrect answer from the options given below:

UL g W60--2 UL I WG0-1-2 63T QUM (55 51S.

uliguwien - | utigwiev - I
(A) eoLemu.Guiey () suswfla Gueumsiienio ereiTUZ] @
Qamiflsy
(B) Gamsirm souiGuimss (1)  2ynfleflwsh Cusvmssaremiouiler sbhens
(©) Guifl urjsa; () weflg 2 poysdt Gusss S sHeng
ssGUTEleul
(D) Mg eTeuL6dT (v} HlFeure Cevmestrenw Gamium(b
wGwir

#Cp CarhHiasiulLsnsuseflelmhg sflurer ellenLenus G&TH0ls([H saa|b.

A: A~(1V), B-(Il), C~(I), D-(11I)
(A)-(IV), (B)-(II), (C)-(), (D)-(11T)
B: A-(I), B-(IV), C-(I), D-(III)
(A)-D), (B)-(IV), (C)-(D), (D)-(11D)
C: A-(ll), B~(I), C-(II), D-(IV)
(A)-(IIn), (B)-(), (C)-(ID), (D)-(1V)
D: A-(I), B-(I), C-(III), D-(IV)
(A)-(D), (B)-(ID), (O)-(II), (D)-(IV)
No management theory and technique is appropriate in all situations'. This is a basic idea of approach.

6TELEVIT G LD IBlemeLG6TlaLD, 6THS 62 (H GLoeumeTen Wt G& ML LIME WMMILD B LD, QLIT[HESSL0TETemn 6l LTS
@ BLILSH 6LEm6L. @) 560 60T 21600(& (LR MUINEDT 1q LILI60L GUITE60)60T 6T6OTEVITLD.

A: Behavioural science

BLEMS Sinflefluich
B: Organisation design

Blmi6leT aulgealeninliL]




C: Management system
GLOGVITETOTEOILD 6MLOLIL]
D: Contingency
SR &FLI6Y

Managers must analyse different situations and use the best approach which is most suitable for that situation. This concept is

GLO6VITETI eTedTLIGUT Qa6 Geuml @ DBlemeugemerT LIGLILIMULIGY Q&F WIS, b5 @D en6eVsHE G]urr@gsgsmrrarr Q@ AwHs
2|60 & P mUlenear CHT6| QFUIWLLD ©) &8 [HE S emeor GTEOTEVITLO.

A': Dynamic approach

QUEIGBIEN6 3G
B: Contingency approach

SDHEF U LIS PO
C: Decision-making approach

Q6 TOSH60 TS WEND

D : Problem-solving skill
NygFenerseneT S8 @& Hmesr
Motivation, leadership, work designs, group dynamics and participation are the main factors of

2615506115 560, S56m6eVemLn, Galem6y QUM aUEMLOLIL| G 6T, (WD @) WKW, LIBICHMHME) 3pH U 26MeTs S 0T
(WPEHR W G&ITFeo | SHeTMESLD.

A Human relation management
eofl% 2 mey GLD6UITEITem LD
B : Behavioural science approach
BLSMS SiMlailwich 9@ uenm
C: Elton Mayo's thoughts
6T6VL60T GLOGWIT-6160T 6T60OT 60T Ml &5 61T
D: Interpersonal relations
SeflLILL L 2 me|s&ser
Which of the following type of organisation is the oldest method ?
L 65761 (15 61 60TEU D M1 6T 6T BlMIGUET emLDLIL| aUem & &6rleb LiemLpll (LNemmWIT@GLD.

A: Functional type
QFWeLLTL(H 6Uend
B: Line and staff type
SGGMY LI Ble0I6y 6U6mE
C: Line type
LI [B160Y6V 616055
D : Non functional type
QFWLLMTS aUend

Frederick Winslow Taylor's philosophy and ideas are published in the Book.
SNTQL& eflersCeum QL6 S &ialh LnMHmID CUITE 65)60TS 6T US5555 60 Qaueflull LI (eTereor.

A': Principles of Modern Management
Befeor GLOEUTEoTEmLD G& ML LIM(H 86T
B: Principles of Scientific Management
nflellwev GLeumesorenn G LIMEH &6T
C: Principles of Management
GLeumenoremLn G&HITLLIMHI&H6T
D : Management theory and practices
GLoeumetoTemL0 G&HITLLIM(H LDMMILD [H60IL(LOED M & 6T
‘Who is known as the "Father of Human Relations Movement" ?

"06uflE 2 MeGET @ UIGES55 6T HHens" 6T60TM SI6MP& & LILIGILIGIT WIT?

A Chester I. Barnard

Q&F 6L & LIFeoTTL
B: George Elton Mayo

VT 6TeLL 60T GLOGWIT
C: Mary Parker Follett




Gl UMFHST SCUTQEVL
D: T.W. Taylor
9. NeTw,. QLleury

MBO was first suggested by in 1954.
MBO-606) (NG 60T(LNH6516V 1954-60 LIFlH&Hen TS HeU T )

A Peter Drucker
SULT 9U8ssT
B: Elton Mayo
6T6LL_60T GLOGWIT
C: F.W. Taylor
eTlLL 96T, QL UIeuIy

D : Hawthorne

DIl
A plan relating to a period of time expressed in numerical terms is a:
SMTOVSSIL6T QSTLFL LW (@ HL_L LD eTevorLpemnmuilev ettt Qauef LRSS LILIGRMSI.
A: Policy
Q& meTemn &
B: Budget

Qe QFeve] L LILIGUI6Y
C: Programme

BT Bleny
D: Strategy

2 55

Choose the following correct option for a social system model of HRM based on the given assertion and reason.
Assertion (A) : Social system model is based on human relations approach emerging primerily from Hawthorne experiments.
Reason (R) : Social factors operating at the workplace affect employee behaviour than the rules and regulations.

G GG 66T Fen g SiemnliL] mHFuller &BSens WD 3iH6T SIS SW b UL G eearanm G| QL.
&HMHS5S (A) : Fens SemliL] TR FUN6T epeVT&H T D6 E 2 M6 & 6rfleiT 361G (LD 60 M ULITET QM TS & TTT G5 TS 6M60T6n L
FMJHSS.
&myeoorld (R) : FLL S L BIsener el Liesoflwimerfledr HLSenSCUI FeLnss Smiyesoilwimss LisoorlulLmigserfley UMFssLuUG S ms.
A (A)istrue (R) is also true and (R) is the correct explanation of (A)

(A)LD 2_atoTemLn (R)LD 2_etoTemLn GLOgILD (R) 6TedTLIGI (A)@) 60T &iflwiment eflemas &l
B: (A)is true (R) is also true and (R) is not the correct explanation of (A)

(A)LD 2_6uoTenILn (R)LD 2_6ToTetIL0 GLOSYILD (R) 6T60TLIGI (A)@) 60T &FiflulmenT eXlemes & Ln606v
C: (A)is false (R) is true

(A)LD 2_600T6MLOWIEV6V (R)LD 2_600T6MLO
D: (A)is false (R) is also false.

(A)LD 2_600T6MLOWIEV6V (R)LD 2_6T0T6MLOWIEV 6V
Thomas Profiting Hiring Technique (TPHT) measures the behavioural fit between candidate and the job as analysis.

STLDEN L|TemLIGUEI LI6oof WD TS 6V (D6 6TedrLIG L SmSUlley QLITMISSINLD Lol ILIQUITMISSLOLD 2 _6Ter
UGLUUMTUeUTE@LD.

A Personal Profile analysis
SeoflIul L swelleuy UGLUMle]
B : Human job analysis
0eoflg Lisoof] LiGLILmuley
C: Both Personal profile analysis and Human job analysis
(A) LOAYILD (B) @ TesorhLd
D : Inter-personal Analysis
Seoflul L u@Lumile]
profile is prepared is part of placement with content, context and relationship of task with others in the organization.
Fwalleurb eTedTLISI @)L LD QTS0 60T GLIMEI BlmialeTsHlev, QUITBETL&HELD, @6V, 2 Me|& 6T mmIh L1m
Leoof| & 6T FMTIHS SWTH QEFWUWlILGSHmS.
A Individual
seoflpUF
B: Job




LIoof]

C: Group
6w

D: Organization
1Bl mi6ueoTLD

involves appraising an employee himself in terms of either how he has performed in the review period or possession of skills in the light of his job
requirements or both.

LHLILTE wenm Leooflwmen@r & W G LILTH QFUISNID, Caleneud @ CHemelllmer HmeoraTe & W LFlGE TS emeor
LG @) TeuoTen LD L SR WSl

A: Field review

&6 Bleval i oM &He6v

B: Critical incidents method
GOIIUILL Fbue LHILTH

C: Forced-choice method

aubUDISH W CHF6 (PeD
D : Self-appraisal

W G LILTH

Choose the payment dues for worker A & Worker B in the following given situation of
standard working hour :8

Standard wage per hour : "10

Standard output : 16 units

Actual output of worker A-18 units, worker B- 14 units

With a guaranteed minimum wage.

LIeooflWImemf A-&@&Lh LiesollWmeT ) B-& @ QFIS5 5 Caletoriqll 2ar&lLGSens GG Q&MTH&&LILIL(H6T6T 656l bl 60 6T
MG CHIT6Y QFUIS.

Bl Jeoor WD Q&F WL L Lievofl GBFLD : 8 nevofl

Bl J600T WD QFUIWIL L 6@(H LD6oof] GBI LemG\wiLD : 10

IBlJ600T WD QFWIWILILILL 2 MUSHUIETE) : 16 6T600T6001185608
LI6oof | WITeITJ A6dT 2_MLISHUIETE) : 18 6T600T6001) 8560185

LIeooflWImerT [ BedT 2 MLIGGHUIETE)] : 14 eTevoreuor| & 6m&

SOMHS LILF 26TH UG QSTETeNS 255 TaUTSH (LTS,

A: .80," 80
* 80, 80
B: *.70,".70
* 70, 70
C: .90, 90
* 90, 90
D: *.90,".80
1 90, * 80

By combining elimination of unnecessary process and reduced cycle time, BPR increases the degree of competitive advantage to a company as
Gxemeiwmm &ifle|seamer alleusGeagin, &HPMHE CHISMS GamMLUILSID QST Q&F W (Weanm WM TenLoLiL et

GUTLIGFTH GLLUTLeL AHSLILOSSIaSI ULSH6 ST LU (H6Tergl.
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is a written statement showing job title, tasks, duties, and responsibilities involved in a job.
eTe0T LI LIeuoflWiledT &emeuLiLy, LIGuof1a6iT, &L 6008 6T LoMMID GQUITMILIL|S6T L BIGIW 6@ 6TWSLILILL

QMGG WIDMEGLD.

Job design

Li6oof] eulq 6UemLOLIL]
Job description

Lieoof] efleurfliiy

Job analysis

ueoofl L@ LUMley
Job redesign

Lieoof] LoaieUigelemLiL|

Choose the positive accelerated learning curve from the below charts.
Fiflwmer GBHILO6MM 2618 S (LNETET SMHMEV aleneaTanel CHIHASH &S :

A:

Amount of Leaming

Time/Etfort

&hme Hlana

G/ wpwhsl
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Amount of Leaming

Time/Effort

sHme Hlene

Gerb/gpwhi

Amount of Learning

Time/Effort

appd Flena

Cpyo/ pupd

Amount of Learning

Time/Effort

&sHpd Hena

Comb/ apuihél

Statement I : HRP is a process which includes various aspects through which an organization tries to ensure that right people at right place and right time are

available.
Statement II : HRP involves determination of future needs of human resources in the light of organizational planning and structure.

Choose the correct answer from the options given below :-

QImESH WD I: neflgeuarid G L LOlL6V 6T6iTLISI LIVGEIMI S|LIDEHBIGHENET 2 _6TeTL &G WS, @) SHeTeLneuld (B Blmiaierid &flulmeor
BUF&ET, Fflwmer UenllulLgHev rflwmer CHIsEH 60 Liesol LS eTmer eeTLens 2 MG LG SS (LWMRMSI.

MGG WD II: neflgeuer S LLAL 6, BlmieersH et S L LAL 6V mmILD BlMI6eT Ll [Blen6v8 6T &[HSH 60 @& mesor(h

TH TGV DeuflF a6 G 6mals6T QG TLTLIML WIS,

Fflumer ellemLemwl SLhs 6oL emeuafledBhs CHIe| Q&FUls.

A: Statement I and Statement II are True.
QUTEGGWLD [ LML eumSHSH WD 1T FflwimeTeney
B: Statement I and Statement II are False
QUTEGGHWLD I LDMHMILD eUMSHSHWILD 1T H6UMTETEn 6
C: Statement I is True But Statement II is False.
TSSH WD I FHWMETS!, QL60TMeV aUTSH WD 11 HeUMTETS
D : Statement I is False but Statement II is True.

QUITEGGWILD I HEUMTETSI, OL60TIT6V UM WILD 11 Flwimerg
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Mateh list | with List 1l

List-1 List-lt
Type of test Meaning
(A} Inteligence Test (I Test tries to measure the level of intelligence of a
candidate.
(B} Apfitude Test (1) Used for measuring human performance

characteristics related to the possible development
of proficiency on specific jobs.

[C) Personality test () Interms of organized behavior as pre-disposition to

react to a given situation in a particular manner.

(D) Interest Test (V) In designed to discover a person's Area of interest
and identify the kinds of jobs that will satisfy him.

Choose the comrect answer.

L igued T emies Ll ipuis - 1 e el Qlumgngss.

Ul s 1 Ul iguwes 1T
Congenenmullen cusnm Qumm s
W pemengfiay Cempenar () GéConpman g aflcmariugryfla
mieEmemiay Hmer Blanssenu semell
lpwigndim.
(8) Hmer Conpenem M s Cauena Gnenwoulisn

sngfunoner suenfidl Cpmdumet
weflg Qewsvfmer Uy saner
BieTeSlBrus e uweTuBRDE.

(€) awEnenwo Gong (i) PesiulL @pE ey
HIRLL gpenmuiiey afl el ener
ufleug guriusamwisiule bLbeng
Sigliuenufles gperenGy Hiey
Qewigensu CunsTpg.

(0)  sgieu Comgenes (V) o puflen e usd wbpd
Sisuen Hoidufiss Caume
FURHEHERET STl
SUREUERIDEBUIUL LSS

Fifluner eflenLenw Caiey Qs

Az (A)-(I), (b)-(ID) (c)-(I1D), (D)-IV)
A~(D), B-(I1), C~(111), D-(IV)
B: (A)-D), B)-(1D) (O)-(1V), (D)-(I)
A-(D), B=(II), C-(1V), D-(I1I)
C: (A1), (b)-aD) (c)-(), (D)-(IV)
A~(111), B-(IT), C-(I), D-(IV)
D: (A)-(ID), (b)-(I) (c)-(I1D), (D)-(IV)
A-(ID), B-(I), C-(11I), D-(IV)
Elements of Human Capital at the Individual level are :

seoflILLC L Blemevudley 1n6oflg 6L 6V & 6018 H) 6t Gn M1 6T

A Capital risk, Working Capital, Social Capital
ELOEV G 60T DY LIS S, HEOIL(LNEMM LGV EDTLD, FELNS LNV 60TLD
B : Intellectual Capital, Social Capital, Emotional Capital
NG T eLNEVSHEITLD, FELNEG POV EUTLD, 2_600T FEFGFILLITE eLN6V S 60T LD
C: Social Capital, Mentoring, Knowledge Capital
FeLNG eLNEVGETLD, Ul &ML (H&6V, 26y eLneuG 6oTLD
D: Emotional Capital, Social Capital, Capital Culture
2 60T FEFILL TG PNV G EDTLD, FeLNE: CLDEVSEUTLD, CLOEVGHEDT S6VITEEFMTID

The process of identification of the Competencies required to perform a given job / role/ a set of tasks at a given point of time successfully.

HMENLDGHED 6T 6V6VSI B MEITSHED 6T &ML (LDEMM 6T60TLIGI 62(H 6 & UI6m6vELIT/LIMIS) 66T G ULIT/Lietof & 6rfl 66T
QaTGLUmearCwm ML L CBIEHe SmbLL QFIW 2 SaR M. @) 56emeor GTEOTMI T MIGUT.

A: Competency Assessment
Hmesr LS
B: Competency Mapping
HmedT LLLAL 6V
C: Creation of Learning Organization
&HMHMEOEDT 62 ([h IS 60)600T LILIN 60I60T 2_(1H6U T8 (& 560
D: Workforce
Q5THLH MeT/QSTLHHFSS




Match List I'with List Il :

List 1 List 1l
Record Concept
keeping (Meaning)
a. Simplicity I Maintained according to the requirements of the

organisation so as to facilitate Comprehension

B Accuracy L Preserved accurately so as fo reduce the chances of
erors and frauds

[ Economy . Cost of maintaining and providing records
d. Usefulness IV, Better Management of the affairs of Business

Choose the corect answers from the options given below.
uLligWwisd - ULliguwed -2 L6t ui@s

uLigwe | uligwev i
[a) ereflemio () sseuensy aeflgms Liflibg OsmsrEhn
susmss U6y, HlmeuesSlem Coene s Ehs s
ghu ugroflésiuio

(b) BusueSlwib )  Sempasr whHmib CursysameT GamnsEs
Hlevedlwions ungisresuuBiflearmg)

c) QumsTAE YD () ubleysenser ugmoflaseyb, suphigsHeyLd
GlFsusum g silensy

(d) uwed (IV)  eusmfls efleusnrriigsemer FiNbhs (Wenmuley
Do)

A: a-I,b-1ll,c-1,d-1V
(a)-(II), (b)-(III), (c)~(D), (d)-(IV)
B: a-Lb-I,c-II,d-1V
(a)-(I), (b)-(1D), (c)-(IID), (d)-(IV)
C: a-I,b-1V,c-1I,d-1II
(a)-(I), (b)-(IV), (c)-(II), (d)-(IIT)
D: a-IV,b-Il,c-1,d-1
(a)-(IV), (b)-(I1I), (c)-(1I), (d)-(T)
Statement I : Attitudes tend to be stable overtime and are difficult to change.

Statement II : Attitudes can be used to predict behaviour, but the predictions are at best only moderately accurate
Choose the appropriate answer :

QMGG WILD-I : LOGOTLILIMEIG 6T SHTeVLIGLITSS 6V [Bl6m6u U TeoTsS &R 6TMeT. GOSN @)6M6UGHEm6T L0MMHMIAIS &1q.60TLD
QMGG WILD-II : LOGOTLILIMEIG & 6T [FL G Sem &HeuoflILGMES LIWeTUB S (WDLULD, 2160TT6V &6toflL1L|&6T FImbHEHemel
WL HIGLD SL60TTev LSDTEH S HI6LeSWILDMETEn6

A Statement I and Statement II are False
QTGS WD I IDMHMILD eUTSSH WD 11 HeUMTeoTS
B: Statement I and Statement II are True
QTGS WD I InMHMILD eITSSH WD 11 Fiflwmetg
C: Statement I is True but Statement II is False
QATSESH WD I FlWMETS QLeeTTev QUSSR WILD 11 Heaum
D: Statement I is False but Statement II is True
QMGG WD [ Seuml SLETM6Y aImSS WD 11 &ifl

Basic elements of Knowledge Management are :
26| GLoeumesoTem D UN 6T IqLILIENL & Fo MIGH 6T

A: Knowledge creation, HRD processes, Knowledge utilization
26 2 BeUTsH&LD, eflGaler GLHUTL B wWenm, oMle] Liwerum®
B: HRD evolution, Competency Management, Knowledge creation
wesflgeuer CUML® WHLILTH), F&TEV CLOEVTEITEnLD, 6 2 ([HeUTEH LD
C: Knowledge creation, Knowledge sharing, Knowledge utilization
gnflel 2 BaIMssD,  nle| LS TH6, Mle] LiweTUm@h
D: Knowledge utilization, HRD Principles, Knowledge sharing
nfle] LweTUT®), LoesflgaleT GLWmUTL (h Q& TaTen S 56T, 96 LIS F560
'An examination and evaluation of policies procedures and practices to determine the effectiveness and efficiency of HRM' is :

neoflgaler GLeumenoremLouledr Q& WLEVEH M6 LMMILD HmeTTilenel SFLnmefleHa Q& MeTan &S 6T, Q& W) (LNENMEET LnMHMmILD
LILP& &6 G MEIS6T oG Welmmler oila] Inmmib S ILTE ereTLg :
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A': Human Resource Audit
neoflFeuer L liie)]
B: Mapping
e UL L6V
C: Emotional IQ
2 _GuoT & mieuoTevornl 6y
D : Human Resource Policy

neoflF a6 Q& meTen s

The major human resource functions in an IT organisations are basically the 3 B's :
S556160 QST MBI LI BlMieIeTHIge6rler (&S WL meT nesfl&6a16T Q& WeVLIMTH & 6rfler 319 LILInLWITS 3 '$)'-8 86T
@) (HSH GOTM6T.

A Buying Talents, Borrowing talents, Building talents
F e F e 5606 QUITHIG IS, MmN LDFTeI G606 &L 6T GLIMIG6, HMenINETed&Hm6T 2_(He T8 & 560
B : Buying Talents, Balancing Talents, Borrowing Talents
F ML F TN 5 6m 6T aUTEIG IS, HMennFTe8 56 6T FLBleneuLI(HSSIaS!, HMenLnEFTed s en 6T &L e Me: GlLIMIS6
C: Blocking Talents, Buying Talents, Balancing Market Talents
FennFTeoGemeT SHLILS, HMenDFTeIHEM6T QUMHIGS!, FHenS HMenLN&G 66T FLoBlemey LiH &&5IS560
D: Blowing Talents, Brokerage Talents, Blunt Talents
B FTeNGH6T SHILILSI, HTE &HL_L600TE HMeTasar, LW kS W HmenLnd et
Statement I : HRIS has computerized linking with all sub-systems.

Statement II : HRIS is 'indispensable’ in developing and perfecting Human Resources.
Choose the correct answer.

QMGG WILD-I : 06l lFH 66T H&H6U6) jemLnLiL] &60ofleof D WINTESSLILL L eSSl 2 L1 emLIL|&EHL6T Q&L WS
QTSGR WID-II : I06vflFHel6T H&HaI60 iemLnLiL] 6T6TLIGI ol HaleTdhemns GBS SaIS InHmILD NaTCaTmHMIaIFH6 Hellisos
QWL RETMITEGLD.

A Statement I and Statement II are false
QUIMSSH WILD-1 LDMHMILD eUTE S WILD-IT FeUMmTeTen el
B: Statement I and Statement II are true
QIMTSSH WILD-I LnMHMILD eUMTESWILD-IT FifluimeTenel
C: Statement I is false, but Statement II is true
QUMEHG WILD-1 HEUMITETS Bb,60TT6V 6UTE S WILD-1T Fiflulmers
D : Statement I is true, but Statement II is false
QUTEGSRWILD-1 FWITETS! 24,6076V 6UME G WILD-11 H6eUMTETS!

is known as, 'The systematic collection of descriptive and judgemental information necessary to make effective training decisions related to the
selection, adoption, value and modification of various instructional activities'.

FAwbs WO WeflliL FMiHS (WDIGQaI[HISS6, LW meTy G e, Q& MeTen s & eneT LlerLIm MG, DG LIL|&6T Lommih
LeuGalm oinleMigE56) QF LIGV&ET IDMMMIKISEHEHE eIFWLTET WenmWNs: G flaaliLL L Lol elleTd:s nmmild Siel
&6 916 H&HeUVEHmET HTL(Heugl ereTLILI(ILD.

A: HRD system
evflgeuer GUML (B SemLoLiL]
B: HRD program
eoflgaler GIDUML (B Q&F W6 BlT6L
C: HRD evaluation
weflgeuer GLWLUML® LHLILTH
D : Descriptive information

6m&: &L MET & 6160

The approach that advocates the division of operations of the multinational company on the basis of same geographical regions and allows the transfer of
employees within a particular region is :

@BHS TGN LIGTeTTL. (B BlmiauearsSH e QaweLmr@G et Flev Liallullwe LGS sefler g litenLulev Lfl&salln,
@M GO L ugduile LsoflwmerFgeneT LFILDMTMHM S enH&E&HaD S5 EH M.

A Poly Centric Approach

LIGOT(LN & 6010 0 (&(LD6M M
B: Covering Approach

2 LUBSSID SIEG PO
C: Regio Centric Approach

LGS LW SZGSLEDD
D : Ethno Centric Approach
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34

35

Q6D FMIHS VG (LPEMM

The tendency for a lack of concern for others and a lack of guilt or remorse when actions cause harm is

@ 6VEmM& QLS (LN MS6T BIT6uor LD QFUIWLLD eTTHIM HeoflBLT 2bLEHemLD 2 600TJ& G oﬁ]@gsrre;&m;rm LDMHMID BN &S
GTeTLIG

A': Narcissism
BH&HTHHE)
B: Psychopathy
LDGOTHEVLD (& 6Tl Wieu T
C: Machiavellianism
GFITE00TE: G\ WLILD
D: Anti Social
Fens GrTsLD
The self - fulfilling prophecy and pymalion effect describe individual's behaviour and their expectations as

560760l 6 M6 & S 6oTemLn D MMILD & ELEN 6T 6lemerney 6TeiT LIS SeoflBLIT BLSenS nMHmiLD Lﬂmn‘]arr THRTUTTLIL
eTeTl GO HE S,

A': If a manager expects big things from their people they are not likely to let down
Guememy WGHWe QamiflevmeniseflLd eTHTLLTTSHS TV, eUTHET GHemm S en6uLILISH606m6v
B : Ifamanager expects only a minimal performance, they are not likely to perform at low level.
GLEVTETT GMMEUTS TR FTLILITTS STV, S 6UTSHET GHemnMeUTsS O &FIeUSH vemev
C: If amanager expects a mediocre performance, they are likely to perform to their maximum
GLOGUITET &FMTGITEO0TIONS 6THTLILIMSS TV, HeUTHET LGS W Q& uielmigs6r
D : Ifamanager expects a very high performance, they are likely to perform to their highest level
Geumen & SIFH&ITSE TR FTLLITTSTE, SaIT&H6T & 2FH &I0ME Q& WaITTEH6T

An evaluative statements or judgement concerning objects, people or events is

62 QILIM(BET, L0&&G6T (&) Bl&WhEaR Lumnlw G LT 6 () SiTnmer surraaﬁs\u_lm GTEOTLISI

A Cognitive
SifleumHmev

B: Affective
UmSIiy

C: Attitude
LOGOTLILIMT60TEmLO

D: Behavioural

FL&6MG / VG VTN LD

The deviant workplace behaviour (verbal abuse) stealing from coworkers is categorised under
wroiul L usslullL BLSengulley FaLemilwmer L GH S &ere| Q& Loscruﬂemeu Aiflefev
AUMSLILOSSILORMS!.

A': Production

2 HUSE
B: Property

QEFMHSI
C: Political

TR W6

D : Personal aggression
SeoflLILL L euedTLOLD
Choose the correct intonations by changing your tone and you change your meaning for the underlined word in "Why don't I take you to dinner tonight"?

FLPCHTIYLLILLL eUMFSenS U6 TSHI0 ens aledmISH LI CLISIDGLITSI "BITET 6J60T 2_6iTen el @6 aNBHH M &S
PGS OFVE Tl MG 2"

A Do you have a problem with me ?
GTETERIL_60T 2_60TE: (& &I LNTFFement @BERMST ?
B: Iwill be going to take someone else.
BIT6T GEUQTTIHEUEMT NPT O F6LE 66T
C: I'm trying to find a reason why I shouldn't take you.
2 _6OTE0 60T [BITEIT 6J60T SIEMLPE S Q& 6V6V8:Gn LTSI 6T60T LIS MG TEOT & ITI600TE 60 & G & (h &) G medr

D: Not tomorrow night.
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BIemeTw @ re| el BHE H&H6e0

The high level of interaction among team members to increase trust and openness is

way of organizational development.

BloieuesT GLOWLUIML Y6 BLNGen s LHmilb QelefllLmggeTanw]b SH&ILMGSS 26wl 2 mililleriserflL b

uflbrhoSms ASEILGSSUS oGl

A Intergroup development
GWwsHRemLulevmenr GOLDLITH
B : Process consultation
QFW LM 24,E6VITEF60)60T
C: Sensitivity training
Fal 2 rIH M6 LUIHE
D: Team building
Sjeoofl WemLoLiL

The determination based on attribution theory does not include

LIeooTL| G& ML LIMTH & 6Mm6T 19 LI L WITE S Q& mevor(h BlFetoruld Q& iag!

A: Distinctiveness
560715 & 60T60IL0
B: Consensus
2555 HHSHS!
C: Consistency
Bleneus HeTenin
D: Self - serving bias

GUWGFemeU LITGSUT(H

The degree of enthusiasm an employee feels for the job is

ueoosfluwiledr W& meoT g, feuld eTedTLIS! (B QS mdlevmerf] gm.ln‘]arr Geauemeuuled(BH S 2 Tl

A: Employee engagement
ueosilwimerifledr LoeoT 2 MIG)
B: Job involvement
ueoofludley (LW LIKIG
C: Psychological empowerment
2 arelliey SIFHSMTLD
D: Organizational commitment
Blmialeor LinkigerlliL

A high achiever (n Ach) jumps from his efforts to
@@ &S HmenLowlmeraly oleurfleor @u.lm@&;aﬂa‘ﬂ@rjgj

A: Personal goals

Sl L @evs&S
B: Performance evaluation
ueoofl LG LILTE
C: Organizational rewards
Bl mi6u6T QUG0S

D: Equity comparison

FLomlene ULTH

Theories that consider personal qualities and characteristics that differentiate leaders from non leaders is

ENEIT 2_6TETL &G WS 6L6mev.

eTeor ILI(BHILD

e smeldd@&mr].

theory of leadership.

556011 B LITF168T (& 600TH6V60T&H 6T LnMMILD ST GGG &6meVenLnLlLIcuorL | 6Temelf LoMMID &emevemLnLlLIcuoTLI606VTE T

SHEMINGSIa CHITLUMLMGLD.

A Situational
GPrlemev
B: Contingency
SHMHOF W6V
C: Trait
(& 600T[H6VLD
D: Behaviour

BLEOS
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According to Keeth Davis refers to the mental and emotional involvement of a person in a group situation which encourages him to contribute to
group goals and share in the responsibility of achieving them.
&5 L6 o dmiliLilg GTETLISI @ & (W G PBlemevuilev e HLIK6T WeoT LoMMILD 2 eoTT&ER FOILML ML &

GMERMS. @S ST R0 G BVHGHEHEH S LIS &E5H6D SaIMenm (6L 6alS5Mamer QLTMILILN6 LInkiE
Q& maTeTa| LD 2618 G &R MG

A Bargaining
GUILD GUIGSH 6V

B: Mentoring
&ML (B &6

C: Participation
LUmIG&H ML

D: Perception

2_6U0TII &6V

Match List-1 with List-Il.

List-1 List-1l
First in India Established Year
(a) First Cotton Mill in India (1) 1875
[b) First Jute mill in India n 1851
{c) First Factory Commission ) 1881
appointed in India
(d) First Factories Act was passed in (v) 1855
India

Choose the comect answer from the options given below:

ulipwiso [ g0 uligwsd 1l e et QummSHgis :
uLCigws 1 uLigwieo I
@nHureailso HmieuiuL
WHedisd LRy

(o) @bHwrefler wpaea () 1875
LGB pemew

(b) @nHlwreler wpgey (1) 1851
FETTED QU660

(c) @hHuraile iy 1881
wihlsslulL
p@e0
Ggmpmemsmey
SLEWETOTWILD

() @bHunedcs pger (V) 1855
L&mfhe&rensy
FLLLD
@uhnuulLg

&6 GamhasiulLensusafledmba Fflwmer eflenLenws Coiey Clews

A a1V, b-II, c-II, d-1
(2)-(IV), (b)-(I1I), (c)-(1I), (d)-(T)
B: a-l, b-1V, c-1, d-III
(2)-(D), (b)-(IV), (¢)-(D), (d)-(IIT)
C: a-L bl c-1V, d-11I
(2)-(ID), (b)-(D), ()-(AV), (d)-(IIT)
D: a-I, b-II, c-1V, d-IIT
(@)-(D), (b)-(ID), (c)-AV), (d)-(IIT)
Given below are two Statements.
Statement I : Mason Harie concluded from his study that the management and labour see each other as more dependable.
Statement II : From the study of Mason Harie it was concluded that the management and labour see each other as deficient in thinking regarding emotional

characteristics and interpersonal relations.
In the light of the above statements choose the most appropriate answer from the options given below:

FECL @\ T6oT(H CUTHR UIMBIGHET Q&TH&HELILIL (D 6TeTeT.

&AWL I: Guaet am il Sergl o, ieller epeuld BlFeumas LD, QS MLSeUTETI&HEHLD 6HeUen FAW MY W86y LD
BLOLIGLOTETEU TS ET TS LI LITT&HS eTMeuT T 6T60TMI Fo M GOTITIT.

QImT&ES WD I1: Gnger ammifluler o uieledmhHal Bliamswld, QST TETI&HEBLD (Bl T WIMHET 2 60T J& &L, Tellnmer
LI6ooTL| &6 LnMmILD Seoflul L 2 meysser uhmlw R bsemneruiley GemmuL G eTemeFssermasCol LIMT&HS 6o meory 6leoTml (L6
QEFWWLILLLGI.

GLDG6V 2 66T QIMEH WMISER&HCSHEML G Q&THGSLILL G 6T allenLGefle QUTBSSI0TaTalMan M CSHT6a] Q&FIss.

A': Both Statement [ and Statement II are correct.
QUTSGGWLD I LDMHMILD UM WILD 1T FflwmeTeney
B: Both Statement I and Statement II are incorrect.

QTGS WD I DMHMILD QITSSHIUWILD 1T H61UMITETn 6l

C: Statement I is correct, but Statement II is incorrect.




QATSESH WD I FHWMETS!, QL6006 QTSR WL 11 HaUMTETS
D : Statement I is incorrect, but Statement II is correct.

QUITEGGWILD I HEUMITEOTSI, 60TV eUMSHGWILD 1T Fflwmergi

Match List-l with List-IL,
List-1 List-11

[a) Exit Inferview L] Itimplies a general invitation to
the employees to informally
drop in the manager's room
any fime and talk over their
arievances.

(b) Gripe Boxes m Surveys conducted to elicit the
opinions of employees
regarding the organization
and its management.

[c}] Opinion Surveys {[1)] Employees can drop their
anonymous complaints.

[d) Open Door Policy (v} Employer finds out the reason
why the employee quits the
organisation by questioning
him

Choose the comract answer from the options given below :

ulipwen | gg ulipwe Il e Lear @UAHs

(o) QeusflCwmb Cmi i n G : M5

aBCHTSEuDd wenpenyT
penpuiled [ienpeuBDH D
BEIHETE] (60 DHMETL
Lo GusaumbEb FE
weflwmer i smdamer
CIUME) S PULINTES
smsuubidng.

(b]  Shgtiyd Quiyser ) EimisusTd whHpio
Guaumesarenis LHAR

SIS eme LismflureTiser
QsuafliufpiBs Suieymer
mLESUUE S smeT.

(o] SmEETLameT ) Quwiy Qeuaflullmg
EemmEener LsmflwmsT
anGhrwn Cefleiss
gy,

(d] SDhE s5e ClETTenS v} uemflwmerjssT
Ppisuengeng 651LE qein
QeuefIGwmuSlmmyser ererm
(pgeonaflser Syeufmenen
Cadmell Coi{ Sinfleug.

sflwneraubenn EHiay Qeds}

A a-lIV, b-III, c-II, d-I
(a)-(IV), (b)-(11I), (c)-(1D), (d)-(T)
B: a-l, b-, c-IV, d-III
(a)-(II), (b)-(D), (¢)-(IV), (d)-(1IT)
C: alV,b-III, c-L, d-II
(a)-(IV), (b)-(I1I), (c)-(1), (d)-(IT)
D: a-Il, b-1IL, ¢-1V, d-1
(a)-(I1), (b)-(1II), (c)-(IV), (d)-(T)
Given below are two Statements:
Statement I : The employer's associations shall promote collective bargaining at various levels.

Statement II : The employer's association should work for unfair labour practices on the part of employers.
In the light of the above statements choose the most appropriate answer from the options given below:

LetTeu LD @ Tevor(h & Mley,

Faml 1 QSIS Fnl LenloliL] LIeuCaimi Bleneuserflain gul (h CLITEHN S 2618 G el & &I,

Fahmi 11 : QSTLA6UTETT Gl LemLOLIL] 6TeTLISI QG TeVTETIE6T FMTLME BIWmWWwmm Q& TeUTeT 6oL (L6 M&: & 6160
Gouemev QF LW Geuetor(h)LD.

FELpseooTLeummiaT WS LIQUTHSSI0MeT ellenLenls CEIHOSMH.

A Both Statement I and Statement II are true.
Famml 1 DML 11 @esor(h Fiflwiments)
B: Both Statement I and Statement II are false.
GOl I LOMHMILD 1T @) Fevor(HILD H6UM TeoTSI
C: Statement I is true, but Statement II is false.
Fammi 1 FIfWIMEOTSI, SL,60TIT6V Fn MM 11 HEUMTETSI

D : Statement I is false, but Statement II is true.

Fa MMl | HEUMITETSI, SLE0TITEV T DI 11 FIfl WMot
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Match List-1 with List-1l.
List-1 List-1l

[A] Distributive Bargaining U} It involves maneuvering to
consensus within the
labour and management
organizations.

[B) Integrative Bargaining (i} it involves shoping or

reshaping attitudes like
trust or mistrust, fiendliness

ete.
[C) aHitudinal Structuring () 1t involves fixed amount of
resources to be divided
(D)  Intra-organizational Bargaining (V] It involves ‘1 win — You win'
posifion.

Choose the corect answer from the options given below :

uliguisy - 1 g0 ulgwe - Il s @udifhls :

uliguwisy | ulpuwisy Il

(o) efefGwms Gud ) GueumeRrenis SiENLOLLISET WHIID
usmflwireriaEnasE st spunllss
s(hHSlenens Clame(y sugp
Epedlenw 2 siemLsElwg)

[b) g@r&eﬂmm;ﬁﬁ () mblEams (1) SeupbilEens,

UL BLYmEY GUmeTD usw

SIEDIGYPFnDHBEneT

UG EUSTILD S HED SHEVEUS)
WDEsULSUEMLD S &6 ualsuDenm

o sirarL &g
(c) DEmLILImEImanLD [y @a Blemevwimss sue i serlein
SLLEmDUL Semedlene #flumsl
Uliflgsaum@n

o sgpumdes o gEjetmana s,
L
emaTL gl g

Netmau(mevesreubper sflwimer eSlenLeniig CaibolsH «

A: A-IV, B-I, C-II, D-TIT

(@)-(IV), (b)-(1), (c)-(11), (d)-(11T)
B: A-IL B-II, C-I, D-IV

(a)~(111), (b)-(11), (c)-(1), (d)-(111)
C: A-IL B-IV, C-II, D-I

(a)-(110), (b)-(1V), (c)-(11), (d)-(T)
D: A-IV,B-II, C-I, D-TIT

(@)-(IV), (b)-(11), (c)~(1), (d)-(11T)

The approach assumes that labour and management have many conflicting interests, but such conflicts are not only natural but even necessary
because it is only competing social forces which can constrain and check the exercise of absolute power.

3|0 (G (LMW TSI, QS MLA6UTETT LOMMILD BlFeUTsHSH ME L6V (LI60TLILL [H6V60TS: 6068 68 TevoTLq.(HLILIG TS
SMHSLUILGHRMS!, 60T 3|5 Hen5 I CLOMTSH6&ET @ UMW Ters! oL (HL06V6, 36T UILDTETSID Fnl, G666 35
GUTLIQUNGID Fepss FEHH &ET L GG (D LREMLDWITET AP ETTHMS QFWOLG SSIamSEs &L GLLGSS6I0
FluMi&&a LD (DI ULD 6T6eTMI &([HSIR TS

A': Unitary
MMMl
B: Systems
S|emLOLIL| ST
C: Marxist
TSR WS
D: Pluralistic

LI6DT (LN & & H60T60LD G185 T60T L

is generally constituted at the plant level with equal number of representatives from the management and workers.
QUMTSHIAITS SL60TE! BlFelmsLd wmmild QsTlevmerserfler LTS E S semner FiflFninnss Q& meor(h)
MSHHLILLL S S,&LD.

A Joint Management Council
(b GLOGVITETOTEMLD & (LD
B: Works Committee
L1600l & & (LD
C: Suggestion Scheme
uflBgienT S LID
D : Shop Councils
& 60L& & (LD SH6T
The principle of should be adopted to avoid multiple unions and inter-union rivalry.

QMY MHEF kG Mk EHH G @ 6L GuwmeT GUIMTLLY MM LI QEMEHaFk&k&EameT &eilljdhs Q& TETen S
JHMIGQ&TeTeTLILIL Geuevor(hHLb.
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A Internal Leadership
2 6T HEMEVEMLD
B : Financial Stability
BIS Blenevs S earemLn
C: One Union in One Industry
2 Qsmhhamameauwile e OsTEHFkI&IN
D: Strong Base

GUBVIGUITET Q&G 6TLD
The Industrial Employment(Standing orders) Act, 1946 states that every establishment employing or more workers should Frame Standing orders.
Qs Ml giamm GalemevalMILF &FL L LD (Bl6em6v 2,6M6e00T) 1946—60T LIl 62616 6 M(H 6] 016 60T(LOLD VSl SHMHGLD

GUMUL L LeooflWImerTF&ene Lieooll SFSSID CLMS Blemey Sb,enetrenll Siemlng: & Caustor(hLd 6T6dTmI Fo MIHOTMSI.

A: 400
400
B: 500
500
C: 200
200
D: 100
100

Given below are two statements:

Statement (I): Industrial Dispute means any dispute which is connected with the employment or non-employment or the terms of employment
Statement (I1): An individual dispute between an employer and one of his workmen is by itself an Industrial Dispute

In the light of the above statements, choose the most appropriate answer from the options given below:

FECLD @I FnMMIGHET QSBMT(HESLILIL D 6TeTSI.

oMl I: QETHLSINM FIFNE 66T LIS JCSHILD @(H FIFeng Calameval ML 96Veva CalemeuuileTemin 96VeuSl
QML & & TeuT [B]LITH S 60)60T8: @B L60T Q&ML FLI6mLWIGI.

Fammi II: b Qs Tflevmer] HmID LesoflwmeTy @enLCw gL SeoflliLL L COMg6) STerme:Gel e QST Semm
FIMF WS HHSLILGRMSI.

GG Q&EMTH&S&LILIL(H6TeT MlEHensulerLlg, IN&aD QLITHSSIMaT LIF e B Qam(h&HaELILL (h6TeT
afl@LiUBISefer UL CHTHOSH &He]LD.

A': Both Statement I and Statement II are true
Fa MM I LoMMILD 1T @ evor(hLD ©_600T60IL0
B: Both Statement I and Statement II are false
G MM I LOMHMILD 1T @ Fevor(hD QLML
C: Statement I is true but Statement II is false
T MM [ 2_600T60IL0, B,60TIT6V Fo MM I QLI
D: Statement I is false but Statement II is true

Tl T QLML S4,60TIT6V So MM 1T 2_600T60)IL0

The functions and the role of comprise prevention and settlement of industrial disputes in industries (in central sphere) as per the Industrial
Disputes Act, 1947

QFWLLITH SHET LDMHMILD @)60T LIlIG enlowl Slemmuiley Qsmillevgienm FiFens G UL HmID $ie| & Weaimenm
2 GTaTL SR WIS,

A Directorate General, Employment and Training, New Delhi
QUTEI GauemevaumILiL LoMmilh LWIHE GUSEGBETSELD, LSIGL6v6ed
B: Chief Labour Commissioner
SMEVENLD QS TLSIGVITETI 2,60)600T LI
C: Directorate General of Factory Advice Service and Labour Institutes
QsMEHFTE6 2,CTFamET CFemel MHMID QG MLSeLITETT K] M6 6uT & 6rfl6dT QLIMSI @)U & @GBSI
D: Labour Bureau

Qamidlevmery LieoofluigL0D
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tatch List | with List I

List- | List -1l
Offences Penalfies
fa) Anemployer who lays off or i  Imprdsonment up to 1 year or fine up to Rs. 5,000
refrenches workmen without or both in case of confinuing of lence, a further
prior permission from the fine of up to Rs. 2000 per day
statutory authorities
(&) Non-compliance of anorder  (il]  Imprdsonment up to 1 month or fine up to Rs.
To re-open a closed 1000 or both
undertaking
[c] Any person committing unfair  (ill)  Imprdsonment up to 1 month or fine up to Rs. 50
lobour practice or both
(d) Anyworkman participating in - (iv)  Imprsonment up to é months or fine up 1o Rs.
or acting in furtherance of an 1000 or both
llegal strike

Choose the correct answer from the opftions given below:

uligwsh 1 g uligwsy 1l oL e Qummsss:

uligwisu | uligwen Il
&S 560869 6B 61T
(a) 2@ oL fluieniy il @ LD Aanpd
AT TN [emplnyer; T LET T als\:sugu
FLLOLLTE (15,5000 SILTTHLD SHELEUSH|
siflarflasflar wsr Brenib silfsniubio.
SiganogluTlsusumos SihS (HHDD
SLEenmiy tlelsug G!g,m.@mnaumm @@ e
e, m.200
SIUTNSLD cﬁlﬂﬁmuu@m
(b) SO L fij] G LTED Noms
Bmfedlgens HESTITLETIE SiEVEUE)
Wempho Hoiushemer £m5.1000 sueny SIUTIHID
S ERTEMILE S|oeug) et pin
UleTummmosy EmS s silSlEs0LHID
(c) Bwrwwopn i) @O LOTHD
Cgmfleomary | 0T 5 5 5T L T T
HEML (LPEMITEmILL SYE0EUE) @_I,EG BUEHT
@a u;s'\:u@g’,gm 20113 SUTAHLD BE050E|
Brewfpo sﬁ\ﬁssuu@w
(d) g%r, ala_\_ﬁ‘ﬂtsqng (iv) G wngmiss
emeuibl s HhHle Flenim g Hen L aneT
UG m D SHEVeS! S0V o6 1000 cuenty
Sigenen LISMLIHD aTihe SIUTTSLD SEVe0SI
@i Lesflumer(m Ereopib supisiupio

£Cy Qerhlssiu Hsmer slimuusdesimba sflwmes ufenaus CEIHE S0 S S

Az (@)(ii), (b)-(iii), (¢)-(1), (d)-(iv)
(a)-(ii), b-(iii), (¢)-(1), (d)-(iv)
B (a)-(i), (b)-(iv), (¢)-(iii), (d)-(ii)
(a)-(1), (b)-(iv), (¢)-(iii), (d)-(ii)
C: (@-(ii), (b)-(i), (¢)-(iv), (d)-(iii)
(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
D (a)-(i), (b)-(i), (c)-(iv), (d)-(iii)
(a)-(i), (b)-(i), (¢)~(iv), (d)-(iii)
Given below are two statements :
Statement (I): Every Industrial Establishment employing 15 workmen shall have one or more Grievance Redressal Committee for the resolution of disputes
arising out of individual grievances

Statement(II): The Grievance Redressal Committee shall consist of equal number of members from the employer and the workmen
In the light of the above statements, choose the most appropriate answer from the options given below :

FECLD 2 FaMMIGET Q&MT(H) &8 LILL (B 6TerTeor.
Fa MMl I: 66U QTSI emM BlmieueToLd 15 QG MSeLTeT 78 66T Lot WL F& S 6ot mev geofliLL L L& Tigerley
(Grievance Redressal) @ BHS! 6T(QLD GLOMHVEHMET HFEHSH 60T 3VVSI JFHMDE& CLMUIL L L|&TT (Grievance Redressal) 6y
G WHH6T @) ([(H&HSH CeueoT(HLD.
Famml 1 UsTT ey & ey, (Grievance Redressal) 2erL Sl tnmmild eriSluily Lieoof WIS ST &L meoT
61600160011 & 60 & Uleumeor 2 MILILN6GoT & 6T @)L bALIM Celeuor(hLD.
GG Q&ETH &&LILIL B 6ETET gamigeflel QUTBS ST LFH e G Q&TH&SLILLH6Ter el (pLiLkigerfley
CsHIHOSH &S LD.
A': Both Statement I and Statement II are true
FoMMI T LOMHMILD 1T @) Fevor(HILD 2_600T60IL0
B: Both Statement I and Statement II are false
Fa MM I LMMILD 1T @ evor(hild QLI
C: Statement I is true but Statement II is false
FoMMI [ 2_600T60ILD, 24,60TIT6V Sn MM I QLTI
D: Statement I is false but Statement II is true
T MM T QILIMTUL, S4,60TIT6V Fo MM 1T 2_600T60ILO
Given below are two statements :
Statement (I): The act of misconduct on the basis of which punishment is given must be one enumerated in the standing orders

Statement(IT):Punishment for an act which is mentioned in the standing orders is illegal
In the light of the above statements, choose the most appropriate answer from the options given below :

L ereu(®Ld @ revor® Sn M misserlev:
FaMMl I: HAUMITET BLEIIG&HMNHHEG Q&BTH S LILIHILD F600TL60)60T 260TS!, BlemeuTeT 2 55 TeileV 6Thg i LiLiemL_ulev
&5600T L_6060T ULPTBIG LILIL LSl 6T60TLIG60)60T 6T600T6001 18560085 UL LILI(HILD.
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Fammi II: Blemeuwimerr 2 55 7el6) GMILLILLILIL BT 62(h G & UIEIE: 85 TE0T G 6U0TL60)60T 6T60TLIS! BIW MWLM ME! 2b,&LD.
BGLnB6V 2 66T FnMmMIG6rfley, Fiflwimer eflemL_ulemer QUTBSSHLOMS LleTaumLd el LiLIkISG6eflel CEIHOSEH &,

A: Both Statement I and Statement II are true
FaMmi I LoMHMILD 1T @ evor(GID &Fiflumestgl
B: Both Statement I and Statement II are false
GOl T LOMHMILD IT @) Fevor(HILD H6UMTeTSI
C: Statement I is true but Statement II is false
Fammi 1 FflWIMETSI, SL60TIT6V Fn MM 11 HEUMTETSI

D : Statement I is false but Statement II is true
Fa MMl | HEUMTETSI, SLE0TITEV T DI 11 FiflWimeoTSI

Given below are two statements :

Statement (I): Only a 'retrenched' workman can claim benefit under section 25-H

Statement(II): A dismissed, discharged or a superannuated workman can claim for preferential re-employment
In the light of the above statements, choose the most appropriate answer from the options given below :

LNereu(mLd @ yevor(® Sn M miserlev:

Fammi I: LeooflBE &0 QF LWLl Qgmidleumefl LLLGGWL UGS 25.H LG LI6oot] LIeuedT G&MT (LDl ULD.

Fammi II: LeoollB& a0 Qawiwiiul L, QeueflGwmmiiul L, euleeumm asmlevmef] il RIGL (wWereiflenin
MICaiemevaumiiliNemeor ST (WOLGULD .

BLnB6V 2 66T FnMmMl6y, QUTBSSLMeT aflemL_ullement LletTauLb eNBLILIBIG6 6L @ ES CSHT6 Q&FUIss.

A Both Statement I and Statement II are true
Fammi I LoMMILD 1T @ Tevor(GID &iflumestgl
B: Both Statement I and Statement II are false
Fa MM I LDMMILD 1T @ Tevor(hILD &eUMITeTSI
C: Statement I is true but Statement I is false
Fammi I FIflWIMEOTSI, SL,60TIT6V Fn MM 11 HEUMTETSI

D: Statement I is false but Statement II is true
Fa MMl | HEUMITETSI, SLE0TITEV T DI 11 FIflWIMeoTSI

The basic reason of industrial dispute which led to violence and lock-out at Lucknow plant of Tata Motors was the demand for

LT Lm Gl L6 608 G6TT SLemeuuile) Qaulg &5 aueTLRenm LHMID L HENES uPlaGES 1 LI
SMITSH MG 2{6e0LDHSH Ceueoor(H G meT

A: Wages
FlhLlemLn
B : Incentives
26158 &0\ & M0 &
C: Benefits of pension
@WaLH WLD [H6OT6nLO S 6T
D: Good working condition

FAmbgs LenluilL Bleney

provides for compensation to workmen in case of closure of an undertaking.

@ Blmiaerid enL_ LG Blemevuiley 60T LIy Qamfleumenioebhs @& @il eupmisiuG S ma.

A': Section 25 FFF

LNfley 25 FFF
B: Section 26 FFF

LN1fley 26 FFF
C: Section 25 AAA

Nifley 25 AAA

D: Section 26 AAA
Nifley 26 AAA

The service rendered during ad hoc, stop gap and temporary appointment cannot be counted for

SH&ETOE CFamneal, @ L alel CFanal, LDMHMILD FMHEMEN S BILGTINGH 6 CFeneal eTaTLIS QSTLT GFenal
QEWWLILL L ST8 SHEOTEHS L LILIL TG

A Paying Wages
FLOLETD Q&HTH&HSH
B: Termination
W LuM&Eams
C: Lay-off




SM&ETeN & Calemevuuilereanto
D: Seniority
Lieoof] (pevteniiflemin

The temporary closing of a place of employment or the suspension of work is known as
Geauemev QFWIWLD GLSMNG SMH&MEIHINTS eLNBHIeUS! 3{eV6VS CElemICVEm LI g’,masrra‘ﬂas Lieoof Bl mMIG & LD 6TedTLIG)

A Strike
GauemeuBlmISSLD
B: Gherao
F DN 666TE H 6V

C: Picketing
Taap\ (VALY
D: Lock-out

&Sl LIL]

Match the following Sections in Facfories Act, 1948 with concerned

heading :
(a) Section - 34 (i} Safety of buildings and machinery
(o) Section-35 iy Excessive weights
(c) Section - 40 (i) Precautions in case of fire
d) Secftion-38 iv)] Protection of eyes
Y

Qamfihamame FLLID 1948-61 Ulg Wemeumd Nfleysamer sflwrs Quimdgs.

(o) Wifley-34 (i) SlyLb Hmb ubHy urgstiy
(b) ifley - 35 (i) bl erenLseT

(c) Ulfley-40 i) & -anfhs wertenssfleenaser
ld) Sifley -38 (iv) SeRTasT LSSy

A (a)-(i), (b)-(iv), ()-(0), (d)-(iii)
(@)-(ii), (b)~(iv), (¢)-(1), (d)-(iiD)
B (a)-(D), (b)-(id), (c)(iii), (d)-(iv)
(@)-(1), (b)-(i), (¢)-(ii), (d)-(iv)
C: (a)-(i), (b)-(1), (c)-(iv), (d)-(iii)
(@)-(ii), (b)-(i), (¢)-(iv), (d)-(iii)
D (a)-(iv), (b)-(ii), (¢)-(ii), (d)-(i)
(@)-(iv), (b)-(iid), (c)-(ii), (d)-(D)

Match the following Sections and it's heading as per Building and other
construction workers (Regulation of Employment and conditions of Services) Act,

1996 :

(a) Section-3 ()  Appedal

(b) Section-9 (i) Identity Cards

(c) Section-13 (i) Budget

(d) Section-25 (iv) Control Advisory Committee

Ulsieusd Hensoly wHmID G u@Hlesner, Uiflaysmen SLigLLd WHDID &L L LDT6
Qamifleoneny (Geusmeo HmD Ceemet allflipampast @PRGUUESZIFZD allfl 1996) Uig

QunmH s,

fa) Ofley-3 fij Codgpmpul

(b) ifley-9 (i)  SEmLWTeT au_cm_ )

fe) Wfley-13 (i) suyey QFevays HILLib

(d) Oifley-25 (iv)  WwHHIW Bevnaenen &g

Az (@), (b)-(i), (0)-(ii), (d)-(iv)
(@)-(®), (b)-(ii), (¢)-(iid), (d)-(iv)
B: (a)-(i), (b)-(i), (¢)-(iid), (d)-(iv)
(a)-(i1), (b)-(D), (0)-(iid), (d)-(iv)
C: (@), (b)-(ii), (c)-(0), (d)-(iv)
(a)-(iii), (b)~(ii), (¢)-(D), (d)-(iv)
D: (a)-(iv), (b)-(D), (¢)-(id), (d)-(iii)
(@)-(iv), (b)-(1), (c)-(ii), (d)-(iii)
Statement I: Section 45 of the Factories Act, 1948, states that "Nothing except the prescribed contents shall be kept in a first aid box or cupboard.Statement I1:
Section 45 of the Factories Act, 1948, states that "In every factory wherein more than hundred workers are ordinarily employed, there shall be provided and

maintained an ambulance room of the prescribed size containing the prescribed equipment.In the light of the above two statements, choose the correct option
given below :
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Fammi-I: QTN MHF T erfler &L LD, 1948 Lifley 45 "LflESIenTHSLILLL 2 6TaTL&&hIGam6T SallT (nHaga

QUL UG, e fluNGeLIT GaUmI 6TEDIEUSEMEITULD 60)6)UE 58T LTSI" 6T Jo MK TSI

Famm-1I: Qs Thimemamnevserfler &L, 1948 Lifley 45 " QS TLAMHEF TNV BTMHMIGHEGW0 GMLIL L LI6uol I WLITeT & 6merr
uewllWwFg& ermen, UFlhSienTsaslul L 2 L&sTah&CeTTh), UFlhSmIssLIULL ST HRFmE Slenm 6uLpkIG L
Ge6UetoT(H D" 6T6T o NI GTTM S

GLoM & 60T @) T600T () For DM 6fl6L FiflWTenT eeetTemm & GLp & mesoT LM M6 CHTHO GG &&a]LD.

A Both Statements I and II are correct
FaMHmIGET I LoMmmILD 11 L& Wi @ yevorih &ifl
B : Both Statements I and II are incorrect
FaMHMIGET I LOMMILD 1T 2B W @ Tevor(BHILD SHeuml
C: Statement I is correct, but Statement II is incorrect
Faml 1 Fifl SLe0TTeL oMM 11 Heum

D : Statement I is incorrect, but Statement II is correct

Fa MM 1 H6UM LE0TTEL FnMmI 11 &1f)

Under Section 2 of The Child Labour (Prohibition and Regulation) Act, 1986, child means a person who has not completed his / her years of Age :
Aoy QsTSleumaTIaeT FLL D 1986(He0L DMHMID 62(WDMHIGWenm)—6v LNKfley(2)er Ly, AT 6TedTLIeuU [ WSl
BITUTSe.
A: 14

14
B: 13

13
C: 12

12

D: 14 + six months
14+6 LOM&LD

means any person who is recruited by or through a contractor in one state under an agreement or other agreement for employment in an
establishment in another state

Geumi LOMBleV BlmiaueTsH et GauenevalmUulliL] LB eLNeVIDTHCAIT (DV6VS!) R LOMBlVSH 6T @LILIBSLD ({eV6vS!)
B 1616075 G 60T GaUemeualMUILILGEMeT Galmi L ILIBELD LNEVINMEHGEIT (h @LILIBSHSETTT 6ThS HLENTWD oLl GFILiL]
QFlIaIms GTGOTEVITLO.

A Inter-state migrant workman
LDITIBl6LMEISEFH &G @ 6L GUW Ljeulh QUIWITHS QS TleuTerTy
B : Inter-state Inspector
LDMBl6VTEIG 658 & @)60L_UN6VITEIT 2 UIGUTETT
C: Inter-state Licensing Officer
LOITBl6eLMEI& @& G @ 6emLulevmer 2 oL eULpMHIGLD AF ST
D : Inter-state Apprentices
LOMBleVHISEHEE @ 6L ufevmeor LUNDHR W ey

Under Section 51 and 54 of Factories Act, 1948, no workers shall be required or allowed to work in a factory for more than 46 hours in any week,
not more than 9 hours / day

QamPmhameney FL LD 1948-6v LNfley 54-60T LI 6THS (B QS TLHMHEFTeneLUIILD (H [BITE6ME G 6TLISI el GHISH MG

GLaILD, QUMTTSH MG 46 nevof] CHTSHMES CLosvd CGalemev Q&I QBTN ETETISHEMET 26005 8888 LTSI,
A: Bonded

Nemevorgsgs LI L
B: Women

QuetET QG TLSleuerT

C: Child
FRomy
D: Adult
NS SaIT/UWS6) NG Sl

Match the following Sections with headings in The Mines Act, 1952:

a 3Sectionl1? i.  Weekly day of rest
b Section20 ii. Committees

c Section28 iii. Managers

d Sectionl2 iv. Conservancy
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&G LI 195260 Ul Nsiraumid Nfleysemeanyih semsoliusenamuid QUINGSHEIS

o) Wfley-17 () sumyBBler giliaymmen
() Wfley - 20 fi)  Gugbssr

(¢} Gifley-28 (i) Guosomemiameir

(d) ifley - 12 (lv) UTSHIETEUE @y

A a-(i), b(ii), c-(iii), d-(iv)
(a)-(®), (b)-(i), (0)-(iid), (d)-(iv)
B: a-(iv), b-(iii), c-(ii), d-(i)
(@)-(iv), (b)-(iii), (c)-(i), (d)-(D)
C: a-(ii), b-(iii), c~(i), d-(ii)
(a)-(ii), (b)-(iid), (¢)-(D), (d)-(ii)
D: a-(iii), b-(iv), c~(i), d-(ii)
(@)-(iii), (b)-(iv), (¢)-(D), (d)-(ii)
The owner/occupier of the factory or agent of mine or supervisor are called as

Qamhlhemeneuuiler 2 flemWmeTf /2 6mLenLOWITETT (S6V6VEI) &S (N&HEUT (SI6V6VS!) & 6001 M600f |LILIMETTE 6T @) 6l 6u Mo
OPEELILGRMTTEH6T.

A Principal Employer
Aygmer g evmer
B: Casual Worker
Fngmyeor Qg mlevmerfl
C: Contract Labour
@UILBS LieuollWmer
D: Daily Worker

FHer Qg mflevmer]
A Displacement Allowance of Interstate migrant workmen is equal to 50% of the monthly wages payable to him or rupees, whichever is higher.
LDITIB]6LEI& @ &G &) 6ML GUIWITET Li6ulh QUWTBES QS TL6UTeT & Eh&HSMeT @ L LIOUWTFR 2 5al505Tm& 2 6UT5HEh5H S
QUILPMABISLILIGID DTS 2e1H WIS FH6V 50% {606V S eI, @aummley 615 G &COM & QUPBISLILIGILD.
A: 745
74.5
B: 73
73
C: 75
75
D: 70
70

In which of the following mining process, the Mines Act, 1952 does not apply as per Section 3.
&IMIG FLULLD 1952-60 LN1fley 3-60T LIg LN6dTeUHLD & JMEIS Q& W6V MUI6D 6T&I G LIMIBIHSTSI?

A: Gravel

FIEO6T (860 LOMMILD LDEDOT)

B: Bauxite
LM&engL

C: Coal
&Il

D: Lithium
AT

Match the List-1 with List-1l

List-1 List-1i
(q) Eligibility for Bonus (i) Section ¢ of the payment of Bonus Act
1965.
(b) Disqualification for Borus (i) Section 10 of the payment of Bonus Act
1965
(c) Payment of minimum Bonus (1ii) Section 11 of the payment of Bonus Act
1965.
(d) Payment of maximum Bonus (iv) Section 8 of the payment of Bonus Act
1965.

Choose the comrect from the options given below :
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uligwensy, Qumphgiomm Gunhss):

ol g ey - 1 uligusd - n
a)  Cumesmsiy i 1965-g40 Zuevm(B)
9 QupsuSHETET H(5HE b Guncnﬁ!:!\: FLLGHlem
ifley-9

(o) Cunmemabtler g fsad (i) 1965-Sub gust()

Cumsarsiy FLL ST

difisy-10
(c] GDhHULSs CumsTsh (ill)  1965-5u0 fuevm(p)
LI Ml (5 60 Gumemsny &LL Sl
Giftey-11
(d) siflsuls Gurersiy (iv]  1965-gub sty
LY IS BE0 Gurmeursiv &L gl

Gifley-8

GuGe 2_sremsubilsy Wsimeu(mib 6 HULNRIGENET GlsTes(h &flwrareng G5 :

Az (@)-(iv), (b)-(D), (¢)-(id), (d)-(iii)
a~(iv), b-(i), c-(ii), d-(iii)
B (a)-(i), (b)-(i), (c)-(iv), (d)-(iii)
a~(i), b-(ii), c-(iv), d-(iii)
C: @i, (b)-(D), (0)-(iid), (d)-(iv)
a~(ii), b-(i), c-(iii), d-(iv)
D: (a)-(iv), (b)-(iid), (¢)-(i), (d)-(i)
a~(iv), b-(iii), c-(iv), d-(i)
Given below are two statements from the Payment of Gratuity Act, 1972.
Statement (I) : Section-13 of the Payment Gratuity Act, 1972 deals with Protection of Gratuity.

Statement (1) : Section-8 of the Payment Gratuity Act, 1972 deals with Recovery of Gratuity.
Choose the most appropriate answer from the options given below.

U601 & Q&ML ULDMIGHED FLL LD 1972-60 2 6T LeTau(®Ld Sammiserfley QUMTHSSLDMaTensd CHIHOSM.
FaMmI1: Sec.13 — LIGOof Q& MemL QULDMIGE FLL LD 1972 — Letol1 Q& menL. LIMSISTLL UM o mSml.
FaMmI 11 : Sec.8 — LIGOON &G &0 QULPMHISHE FLL LD 1972-6V L1601 Q& MenL auLpkEIg6e0 LS L LM o S mal.
A: Statement-I is true but Statement-II is false.

Faml 1 FfIWITETSI, QL60TMT6V SoMMI 11 HEUMTEOTSI
B: Statement-I is false but Statement-II is true.

Faml [ HEUMTETSI, DL60TT6V oMM 11 FflWimeoTs)
C: Both Statement-I and Statement-II are false.

Fa MM I LDMMID 1T @ Ievor(hILD &eUmITeTS

D : Both Statement-I and Statement-II are true.

Fammi I Iommih 11 @ esor(ih &iflulmeotgl

Match the List-1 with List-11

List-1 List-I1
(q) Employees’ Provident Funds (i) 1972
And Miscellaneous Provisions Act,
1952
b) Employees’ Deposit linked Insurance i) 1995
Scheme
(c) Employees’ Pension Scheme (i) 1976
(d) Payment of Gratuity Act (iv) 1952

Choose the correct answer from the options given below.

Ll igusy 1 emw uliguwisy 1T 2 L et gpuudifles :

uligwev | uliguwed Il
(a) usssflwmren eugpiismso i) 1972
ety B wHDID
@7 epedh FLLD
1952

(b) emflwiFsst emsuliy
ElememraaiulL
STOILE Slib

(c) esyglufssT gy (i) 1976
sl HlILLn

(d) uenfl&Carens suphimed  (v) 1952
FlLd

i) 1995

sflwrerens G&THoSM0 :

A (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
a~(iv), b-(ii), c-(ii), d-(i)

B: (a)-(iii), (b)-(iv), (c)-(ii), (d)-(1)
a~(iii), b-(iv), c~(ii), d-(i)

C: (a)-(ii), (b)-(i), (c)~(iv), (d)-(iii)
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a~(ii), b-(i), c-(iv), d-(iii)
D (@)-(i), (b)-(iii), (c)-(iv), (d)-(ii)
a-(1), b-(iii), c-(iv), d-(ii)
Given below are two statements.
Statement-1 Section-4 of the Equal Remuneration Act, 1976 deals with duty of employer to pay equal remuneration to men and women workers for same work
or work of a similar nature.

Statement-II: Section-14 of the Equal Remuneration Act, 1976 deals with Power of Central Government to give Directions.
Choose the correct answer from the option given below.

eraumLd Famniley:

Faml I: FL0 2erH\ W FLL LD 1976607 LILG. LNfl6y 4 —60 y,600T LOMHMILD Q6voT 26m AT HEHSH S FLO G VS RS
GeUMEVE (& FLOLDITET 26T ILD [BMI6U6UTLD /(LG 6V TeT & 6T uLpMhIg CeuetoT(H)LD 6T6dTMI GMISGR M.

Famml II: FI0 G\ FLL LD 1976-60TLILG. LNfle) 14-60 LDSH W ATEFMHISSH 60T AHETTHMS @L1qW el & ML B S em6ev
GMSH DG

gflwmer aflemLenwl CSHT6y QFUIS.

A Statement-I is true but Statement-II is false.

Fammi I FfWIMETSI, SL60TIT6V Sn MM 11 HeUMTETSI
B: Statement-I and Statement-II are true.

Famml [ oMo 11 @evor(GD FiflwimeTg)
C: Statement-I and Statement-II are false

Faml 1 LOMHMILD I @TeroT(HILD HeUMmTEoTSI

D : Statement-I False but Statement-II is true.
Tl | HEUMTEOTSI, DL60TT6V FnMmMI 11 &FflWimeors)

Which of the following Statement is/are not correct with regard to the 'Equal remuneration Act, 1976.
(a) Section-2 of this act deals with Definitions.

(b) Section-3 of this act deals with Advisory Committee.

(c) Section-4 of this Act deals with Power to make declaration.

(d) Section-5 of this Act deals with Power to make rules.

Choose the correct answer from the options given below.

FL0 2an@\W FL_LLD 1976-60T LG LN60TeU(BLD Fon D M6V 6TEI HoUMTETS.

a. Nfle] - 2 auemgwenm&eameT GMIS&EH M.

b. Lifle) -3 9LCMFMETS & (D& 5M6T GMIGEH M.

c. Nfley - 4 gyynfleflliysemer QeuefluGID HBETISHNS GM&ER M.

d. ifley - 5 G &emeT 2 ([(HaUTHGID AHETTHMS SOEHMSI.

GLnG6V 2 6T Fa MMM & NeTaupLd efl@pLliLIBisefledmbg Fiflwmearalimeanm CHIea Q&FUls.

A: (a)only
all (b
B: (a), (b)and (c) only
a, b LOMMILD ¢ L BHILD
C: (a)and(c)only
a, c DL (hILD
D: (b), (c)and (d) only

b, c,d LD
"Deductions which may be made from Wages" is discussed under of the payment of Wages Act 1936.
FLOUTEH 60 @ BHS QFWIWLILL &89 &6 6T 1936-340 2y,600T(H) 2EMTHUILD GULPMEIGLD &1L &S 60T —60TLILG
afauflea UL G eTensl.
A Section-5
Wifley -5
B: Section-6
Aifley -6
C: Section-7
Wifley -7
D: Section-10
Nfley - 10

An employee shall be disqualified from receiving bonus under Section-9, of the Payment of Bonus Act, 1965, if he is dismissed from service for
1965-910 21,6007 (H CLIMETEN QULPMEIGE6 FL L GHer LG, LNifle] 9-60 e 2er Qi Lisvofl HE&sLILIL L6V, e
SITI6uoTIOMS Lieooll B&&LILILIQ(BIHES TV, 6l GLITETeN QLUMIAISHE ST Wmmeld QLGB M.

A: Under Performance
QFWLH MEIT &Henmey

B: Not achieving the target continuously
QEHTLIHS QeVHNs ML LTSS

C: riotous or violent behaviour while on the premises of the establishment
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151 016116075 G 60T QU6ITTE G560 8606 [T LDITEOT {606V QUEIT(LNERMUITET HL S0
D : Not cooperating with other workers.

O 2ar LIS EBHL 6T RESIMNSHHTSSI

Match the List-l with List-Il on the basis of minimum Wages Act, 1948.

List-l List-11
(@) Section22(A) (1) Cognizance of offences
[b)  Section22(B) (i) General Provision for punishment of other offences
) Section22(C) (iii) Payment of undisbursed amounts due to employees.
(d) Section22(D) iv] offencesby companies

Choose the comrect answer from the options given below.

Ul iguisd - I gg uligpwisy - Il 2 L6 Gembsuls eadlw FLLib 1948-6iruy CUMmEE5I6:

uligwen | uligwed Il

{a) Uifley 22(A) ) ©GOoEsmsT SHlouz

(b) Nrfley 22(B) (i) SevTLEME WHDID KD
BODRISELSSTET CluTg)
sl

c) Sifley22(C) (i) m@wq&@i‘%
UPRIBLULTS Cl&Tens

(d) Nifley 22(D) (iv) ﬂ@mw@mmﬂm
BDDEI&GET

erraumid eflmuiLgSlev Fflwunsmens CarHeS5H!:

Az (@)-(i). (b)-(1), (¢) ~(iv), (d)-(iii)
(@)-(ii), (b)~(i), (©)-(iv), (d)-(ii)
B (@)-(iv). (b)-(iii), (¢) -(ii), (d)-(D)
(@)-(iv), (b)-(iii), (c)-(i), (d)-(D)
C: (a)-(iid). (b)-(i), (¢) -(iv), (d)-(i)
(@)-(iii), (b)-(i1), (¢)-(iv), (d)-(D)
D: (@)-@). (b)-(id), (¢) ~(iii), (d)-(iv)
(@)-(1), (b)-(ii), (c)-(ii), (d)-(iv)

Which of the following statement is/are correct with regard to Employees' Provident Funds & Miscellaneous Provisions Act, 1952.

(a) Salary and allowances and other terms and conditions of service of Presiding officer are discussed under section 7(G) of this Act.

(b) Staff of Tribunal is discussed under the section 7(A) of this act.

(c) Appeals to Tribunal is discussed under the section 7(B) of this Act.

(d) Procedure of Tribunal is discussed under the Section 7(C) of this Act.

Choose the correct answer from the options given below.

LI6oof WM T e B BI& eV emalllL] BIS nHmilh @&T eS1GHG FLLID 1952-6TLL. LIeTalBLh sammigerle ergl &Fifluimers ?
a.Gemevenin AR &Tlullest FLdUeTd IMMILD LI &6T mmid Lm & wenmaer inmmih BlUbS amerseT Liifle) 7(G)-6v
e &slIuGRmS!.

b.BFLLMTWESH et 2arflwizsser LNifley 7(A)eTSLD elleumH & & LILGS MITTSHET.

cBILIUTWSH 6 e emmui® ereaTLIg Lfley 7(B)-6v elleumH & & LILIGRMSI.

dBILUMTWSH 6T HLaug Senss&6T Lfley 7(C) -6 &b ellaumH&EsLILGRMS!.

LN edraumeusraummier Fiflwmerensd CHTHAS M.

A: (a)only

a L (b
B: (b)only

b L (BILD

C: (a)and(c)only

a loMOILD ¢ oL (BILD
D: (c)and (d) only

c LMD d L HILD
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The "Payment of "Maximum Bonus" is discussed under
B GLLF GLITETEN GULOIBIG 6V 6T6ITLISI

A:

Section-10

Aifley - 10

Section-9

fley -9

Section-11

9fley - 11
Section-12

ifley — 12

of the payment of Bonus Act 1956.

The factories Act of 1948 lays emphasis on the various provisions for labour welfare as classified under
QaMEMHEFHIg FL LD 1948-60T LILG LIGaIM QG MS6LTETT [H6VLD 6ULDMHIS 606U

A:

Health, Safety, Welfare

2,CIMEHR WD, LIMSIGTLIL| [F6V6ITHET
Safety, Wealth, Welfare

LUMSISTLIL, Q& (QEMLD [56V60TE 6T

Health, Welfare, Wealth

SL,GITHESHWILD , HEVEDT LDMMILD QF (PEmLD
Wealth, Safety, Hygiene

QF (WML, LMSISTLIL LOMMILD &F&HMTSTTLD

Match the following Sections of the Factories Act 1948, which deals the Industrial
accident and safety of workers in establishment.

Q.

b.

C.

d.

Section 35 (i} Casing of Machines
Secfion 34 (i} Protection of eyes
Section 26 (i)  Self-acting machines
Section 25 {iv) Excessive weight

Spargnb FLLUSeysensr QLM(mSg)s:
Ggmiimerensug #LLID 1948, @g) Clemiflsva aflugs wbmi Hoysusr eaflwjeeflsr

senms GlEwsiuGlElsirm GuwibhE priussT

umglsrisnu sam&lmg).
(@)  slLi9iflsy 35 (0] Bwhdyrssr Qurdlsss
(b)  slLlfley 34 (i) semstaeflen LmgsmiL
(€) slLiflsy26 (il
(d) sluiniifley 25 iv)]  oifsugwires sent
A: a-iv,b-iii,c-ii,d-1i
a-iv, b-iii, c-ii, d-ii
B: a-iii,b-ii,c-i,d-iv
a-iii, b-ii, c-i, d-iv
C: a-ii,b-iv,c-1,d-iii
a-ii, b-iv, c-i, d-iii
D: a-i,b-ii,c-iii,d-iv

Match the following occupatienal hozerds terms with cencem headings :

a-i, b-ii, c-iii, d-iv

Hazards Types
Ventfilation 1. Biological Hazards
Viruses 2. Mechanical Hazards
Defective tools X Psychological Hazards
Tension 4. Health Hazards

dwsauL Qe erihs uss surfenssenst 2 fliu SensuliLLsi CuTmEEIs |

(q)
(B)
(c]
(d)

A

SIUMLIMIE 6T UM & 6T

sMHEmTLLD (i) 2 uiliflwey gumunigst
EOEUITEVEET (i) B E TeSILIE) SjLImuIkSeiT
Gemmum(srer smeflast (i) 2 6melilLIgy SLIMLIEISET
GlLstnemiysin (iv) &sTEIT SUmMUkRSST

a-4,b-1,c-2,d-3

a—iv, b-i, c-ii, d-iii

Wrflefledr LiLg., GLIMETa 6ULpMhISGHE6 FLL LD 1956-60 efleurflg & LUl B)6Terng).

ST6OTMI QUM S LILIHSH 2_6TeTs!.
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B: a-3,b-2,c-1,d-4
a-iii, b-ii, c-i, d-iv
C: a-2,b-1,c-4,d-3
a-ii, b-i, c-iv, d-iii
D: a-1,b-4,c-3,d-2
a-i, b-iv, c-iii, d-ii
What are the three classifications/categories of Labour Welfare ?
Qamdleumeriy mevesflet epeormi Loy &6t Wimemeu ?

A: Co-ordination ; Commitment ; Self-care
62 (IH 161 59 60) 600T &5 &5 6V; [T LILI6TOTILILY; S60T60T6VLD
B: Statutory ; Voluntary ; Mutual
FLLUUL QFWLI(B&H6V; SHeTeTTIalLD; LIFeuLITwD
C: Commitment ; Concept ; Capital
SFUILEUIL; SHGSS!; VS ETID
D: Statutory ; Compulsory ; Co-ordination
FLLLIULG QFWLGS6; ST Q&FW6LIH S 6V; 6 (IS 60) 6008 560
Article of the constitution of India says that " the State shall, within the limits of its economic capacity and development, make effective

provisions for securing the right to works, to education and to public assistance in cases of unemployment, old age, sickness and disablement and in other cases
of underserved want".

ABH W TH WevemnliL] NS eTevor , "LOMTIBl6VMBIGET &G 60T QUITIHETTSTILD LnMMILD GLODLIML Q65T 6UFLDL|& & 6T
LIWIsaI6Ter grhUMB&Bener Q& IUIEVITLD 6760l SaMIF MG, CLuaih Cauemev Q&I 2_flemio, Hevell SHLIG T 2 flemln, QLTS
2 el EnsasTear 2 flann, Calemeullarenin GMIuIbH &6, Walenn, GBI MHMILD aleTTEFR ULV Fbg T LILIMG Gerflev
UMSISTLULGTGWD" 6760 o MIHMSI.

A: 44
44
B: 41
41
C: 40
40
D: 43
43

As per the Factories Act, 1948, minor accident is one due to which injured employee has to remain absent for more than 48 hours but less than
days.

QaMEmaTeney FL LD 1948-6TULg Fnflw elLSH 6L ST L 26omnuwf H & LLFNS e s L flwmenio 48 1oevofl GBTLD.

S,60TITEV, BTL&emeT el Genmelnd: @) (HaHs Calsur(h b,
A: 21
21
B: 25
25
C: 48
48
D: 28
28

Which one of the following is personal factor for accident ?
L edreumeusoreu ML 6T&! 6N LIG S8 8 meor Seofl LI L & TTeuofulm@&Lh?

A': Nervousness or fear complex
USLLLD IHoih Lwih S &80
B : Lack of Safety devices
UIMSIGTLIL| &IT8 60T IS 6r 60T LIMMME & 6mm
C: Fire
& (QB®GUY)
D: Lack of Safety guards
LUMSIGTLIL &TeleVT&6T LIMMITE G emm
What is HSDC means in Industrial Health ?
QaMbles 9CITERWSH 6 Qamd 66 14 & eraTliLbG eug WSl ?

A: Health Survey Divisional Commission
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2CITHER WD &6T glile] LNifle] gLemesoruin

B : Health Safety Development Committee
2,CIM&HH WD UMSISTLIL CLLUTH G

C: Health Survey Development Committee
CIMHR LD H6T 16| CLIUTE G

D: Safety Survey Development Commission

LMSISTLL| &emal,lley GUIM® &i,6m600T WD

‘Which one of the following is not in the area of Labour Welfare ?

LN edT6u (B eu6etTEU M MIET 678 QS TleUTETT BleuLILIGH uiley @ evemev

A: Board Room
ol jemm
B: Recreation hall
LOETLO&ILD
C: Canteens
LI6oof ] LoemeoT &\ MI600TLY. &FTem 6V

D: Restrooms

QUle| 9emm

As per the Factories Act, 1948, one first - aid box should be kept available for every

QaMEMHEFHIs &L LD 1948-60TLIY @ (WSS QL1

A: 140
140
B: 150
150
C: 300
300
D: 200
200
Match List | with List 1l
List1
Income changes
(A) Theimpact of the change in non labourincome on the U]

number of hours worked

(B) Anincrease in the wage rate, holding realincome ()
constant, increases hours of work

[C) Aincreasein the wage rate generates {m)

(D) Theincrease in the wage thusincreases the demand for Iv)
leisure

Choose the comect answer from the options given below:

UL g W60 1 UL IgWied -2 L6 @UIEs.

ULIgIUIED - | GUEHLOT e
LOIT DG 6T

(A)  emflur sisveumgeuilsr m
gl THDHSTED
Clwngg Ceusmey
Grogdlen gnésb

(B) SMEMUEREE. m
Sifsfliy, Quwd
BU(LO MRS E0E
Hlemsuiims
DB BB
Spflweme Geusmey
Cpuhens
Sl aElsmen

(C) ==mflwelsgglso gnpo ()
STEITLIE - R (HEUTEEHLD

(D) 2B ghpoasug  (lv)
ey Comensusniu
ETAL A AT 3

UL igiued - it afleneney

su(HLOMEET SlEneney Her

wrhm eflenereyseir

Gousmey Crygens @emmébEms

Ulstreumib eflmuutisaflss sflursmsubhenm Gaiey ClFls.

Az (A)- (D), (B)-(IID), (C)-(ID), (D)-(IV)
(A)-(D), (B)-(ID), (O)-(II), (D)-(IV)
B: (A)-(IV), (B)-(ID), (C)-(D), (D)-(T)
(A)-(IV), (B)-(IID), (C)-(ID), (D)-(1)
C: (A)- (), (B)-(D), (C)-(1D), (D)-(IV)
(A)-(D), (B)-(TID), (C)-(1D), (D)-(IV)
D: (A)- (1), (B)-(D), (C)-(ID), (D)-(T)
(A)-(IV), (B)-(ID), (C)-(1I), (D)-(1)

number of workers.
QBMHeLTET I8 EH 5@ 615 Geleuor(HILD

List 1l
Effect
Income effect

Substitution effect

Bothincome and substitution effect
Reduces hours of work

SU(HLOMEETLD MDD WD) 68lenemayHei
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Match List | with List Il
List1
Types

[A)  Structured unemployment

(B) Disguised unemployment

[C) Openunemployment
[D) Seasonalunemployment

List 1l
Features
) Itis associated with the inadequacy of productive capacity to
create enough jobs for all those able and willing to work
) Itis notin the open for everyone to see, it remains invisible
)  MNowork to do but able to work and also willing to work
(V) It occurs during certain seasons of the year

Choose the comect answer matching List | with List I

UL Iguish 1-@ Ul iglied -2 L 6T @Ui{Gs.

CUENE BT Amunilweoysen
(A) BlLL@wssLULL I Hmenweredlsshs @b, sl (HUULPSTETETSHERES G0
GrusnsuuSlsimenio GUTBIDEIT LERTlEEnsT D (hHeu T HeH D &
gﬂuﬂiﬁ SsiT UDHDITEGenDuyLer B8
BT
(B) wenm(pasmEsT {1 g@ SIEMEWTEU(HEEGD HTSHTUHD (S
GeuensuuSlsaranio suaflLETLINESTES) SIEVEV, Sif) LeLIUL NS
(C) Qmaﬂﬂum}Lmnm () Qalsugne G ) e G
GrusmevuSlsaremnio Qariw ipiyb. Eweyd Gsusns Clawiw sfgplUuwphd
26T
(D) Umsusmsy v) B susmgen @UILOILL unaukhseflsh
GrusmeuuilsirenLo FOUREIsTDS

Az (A)- (D), (B)-(D), (C)-(IID), (D)-(IV)
(A)-(D), (B)-(ID), (C)-(III), (D)-(IV)
B (A)- (11D, (B)-(D), (C)-(1D), (D)-(IV)
(A)-(ID), (B)-(D), (O)-(ID), (D)-(IV)
C: (A)- (ID, (B)-(II), (C)-(I), (D)-(IV)
(A)-m), (B)-(IID), (C)-(1), (D)-(IV)
D: (A)- (D, (B)-(AV), (C)-(IID), (D)-(T)
(A)-(D), (B)-(IV), (C)-(1ID), (D)-(II)

The elasticity of substitutions between Capital and labour(holding output Constant) is defined by
LNEVSH TSR MG 2 emLpLiL&EGLD enLule InmmTL 19607 ABHPEFR (QeueflufemL Blemeuimas 0)615H) [(H&56V)

GTEOTMI QUEMTWMISSH LGSR MS!.

A "
Percent change in E

Elasticity of Substitution =

Percent change in(%)

sgels oo (K/E)

il st QpEDEH = e e
B: Percent change in k
Elasticity of Substitution = ge
Percent change inr
R o s EEESBLMPDL(K)
wrhiligeir Qpdlpsdl = ——
speig oo (r)
C: K
. . : Percent change in (E)
Elasticity of Substitution = —
Percent change 1:1{?)
G " s5eis wmpw (E)
wrmiflysr QmElpFA = —
sgelg Lrbmo (W/T)
D:

Percent change in k

Elasticity of Substitution = T
Percent change in(E)

S5 onpivis (K
oL igsh Apdpsd = e PDO)
smelismp (K/E)

The steady-state rate of unemployment is sometimes called as
Blemeuwimen Blemev CalemevwilaTenin all&E D &Fev Gr_r)crrﬁwaaﬂe\)

A': Natural rate of unemployment

@umens Calemeuuilerenin ell&H GL0
B: Standard rate of unemployment

Blemeuwmenr Cauemeuuietremin & G0
C: Critical rate of unemployment

QB BEHSY Cauemevwlearemin all&E LD
D: Normal rate of unemployment

@uevuimer Calemevwileirenio & GLd

6TeTMl 2P ESHLILOSH MG
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"The bulk of workers earn relatively low wages and that a small number of workers in the upper tail of the distributions received a disproportionately large
share of the rewards"

Qu@pLbLmevment 2er WIT&HET FTTL G6MMbS 261G WD QUMIDGCLITSI, 6(h F\mi eTevorevot] & emasufeumet 2 wifBlemevulley 2 aiterm
oanSULITSH6T QauG LS &6rfle e QU LillensLl QLMIaIS

A': Positively skewed wage Distributions
GBILenm ellenerhgs 2arFwl il Bl GulTs LD
B: Miner earning functions
LDETEFS GUHEUTUI Q&FWeLLIT(H)
C: Optimal timing of investments
2 &bH5 CBT PS50
D : Efficiency units
QFWILH MET 216V& & 6T

"The idea that when the Primary bread winner is a family lover his or her job, other family members will temporarily enter the labour force in the hope of
finding employment to offset the decline in the family's income"

2@ GHLLUSTH L LTS Ter auaumwmery Ceueney @LoLiLller GUMSI e GOHLU 2 ML\ eTI&6T SH&HTeNSHLNS
Qamdevmeni LKBICHMHLI (WemeaTLBIGE, &MU euweuruiley &Fifle] UL Mned &S Cauemevalmiililener G5 {H &6V
6T6OT LI
A: Added-worker effect
Fa(H 6V Qs mlevmer allememey
B: Discouraged worker effect
o1& & 6fle&ULT - Qs TfleumeTy ellenarey
C: Income effect
QBT eflemerTay
D : Cyclic Fluctuations

GO gD GMESD

The labour force participation rate given the fraction of the population(P)that is in the labour force and is defined by (U-unemployment; E-No. of persons
employed LF=Labour force)

QaTllevmary @ eur LiIMigG6TlIL eSS0 In&SHET QSHTensUIN6T @ LIGHmWs QaThERMS. QS MSeTeTH @)6r Lk
Wereu@mm elleufl&slUGR M.

(U-Gauemeuwilairen Ln;E-Cauemeuuiley o _elTer HLIFTE: 61 60T 6Tevoreunt] & 6m&;LF-Q G MSleVTeT @)eorin)

A
T E
Labour force participation rate = 5
Qi miflsomsmy @Glesr LGS HIUY s =§
B:
I LF
Labour force participation rate = =
Gemifleomsmy @eor uriGls{HI0UY e = %
C: e LF
Labour force participation rate = e
Qigmflsumsmy Gleor LGl [ 6isD = %
D:

g LP
Labour force participation rate = =

Qmfleurar @er LRICSEIOY 69D = %

Which effect encourages the firm to expand, increasing the firm's employment?

6T S ellemeney Blmialerseamng elflaliLbh &S e|h BlmiaiersHer CalemnevalTillienl 5 &H&&Hea|0 2616 Gl &R & ?

A': Substitution effects
OMHo 6 en6me 86T
B: Scale effects
Sjemeleument 6606y 86T
C: Perfect substitutes
Frflwimeot LOMMHmIdeT
D: Isoquants

0G5 MG 6 mevor () & 6T
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"The relationship between the wage that workers get paid and job characteristics " is called as
LieooflL1 LIeooT L& 6T Lommild Q& mSleumem a6 QLImILh 261 WD/Fa6d @eummh @& 2 6Tem QST

A Welfare of workers

Qs mSlev ey 66u6dT
B : Hedonic wage function

&L 2arGH Wl QFWeLLIT(H
C: Iso profit curves

@ eumLILA6LEVIT 6V &S 6T
D: Fringe Benefits

2 Ll FIen&H56T

The expenditures that firms incur as they adjust the size of their work force are called

6] 016 60T 61 &5 61T HMHBIGHET Lisoorlwmerigserfler oememen &Fifl QF UL DCLMS gMHUGLD Q&F6v6) &6
PGS LB G 6OTme6T.

A Expected wage
THRTUTTSSLILG LD 28TH Uil
B: Adjustment costs
FlOFLIS0 QFave]
C: Minimum wage
GBS LLF 261 LD
D : Adjustment elasticity

FlaFIge6 L6TemLn

ereoTLILI(p)LD.

6T6OTmI




